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Direction: Read the sentence to find 

out whether there is an error in it. The 

error, if any, will be in one part of the 

sentence. The number corresponding 

to that part will be your answer. If the 

given sentence is correct as it is, mark 

the answer as ‘No error’. Ignore the 

errors of punctuation, if any.  

1. The doctor warned (1)/ me to 

monitor my blood pressure (2)/ and 

heart rate on (3)/ extreme conditions. 

(4) 

A. 1 

B. 2 

C. 3 

D. 4 

E. No error 

 

2.Mystery books don’t (1)/ interest me 

very much, also my (2)/ little brother 

is totally (3)/ into the genre. (4) 

A. 1 

B. 2 

C. 3 

D. 4 

E. No error 

 

3.Only one woman dared to stood (1)/ 

up during the meeting and (2)/ express 

how most people felt (3)/ about the tax 

increase. (4) 

A. 1 

B. 2 

C. 3 

D. 4 

E. No error 

 

 

 

 

Direction: In the given question, four 

words are printed in bold and are 

numbered A, B, C, and D. The positions 

of some highlighted words may be 

incorrect and need to be exchanged 

with another highlighted to make the 

sentence correct. Find the words that 

need to be exchanged. In case the 

given sentence is correct, your answer 

is (E), i.e. 'No exchange required'.  

4. The flight attendant down (A) her 

way made (B) the aisle, assisting (C) 

drinks to the passengers and 

offering(D) them with buckling their 

safety belts. 

A. Only B-C 

B. A-B and C-D 

C. A-C and B-D 

D. Only A-D 

E. No exchange required 

 

5.The suspect (A) committed (B) a 

voice recording of the judge(C) 

admitting that he heard(D) the 

murder. 

A. A-D 

B. B-C 

C. A-C and B-D 

D. Only A-B 

E. No exchange required 

 

6.The employment(A) has a strict set 

of conditions that employees must 

follow (B) in order to maintain (C) 

their company. (D) 

A. B-C 

B. A-D 

C. C-D 

D. A-B 

E. No exchange required 
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Direction: In the following question, a 

word is given, which has been used in 

the three statements given below it. 

Identify the statement(s) in which the 

word fits contextually and 

grammatically to convey a logical 

meaning. 

7. DRIED 

I. His main source of work had dried 

up, leaving him short of money. 

II. Though he made it back to the top 

by dint of talent and hard work, he 

remained a deep-dried cynic for the 

rest of his life. 

III. If you want to keep any kind of 

meat preserved for very long, it will 

need to be dried so the moisture 

doesn’t make it rot. 

A. Only I 

B. Only II 

C. Only III 

D. Both I and III 

E. Both II and III 

 

8.MINDFUL 

I. Politicians are increasingly mindful 

that young voters are turning away 

from traditional parties. 

II. I'm trying to be more mindful and 

I think it helps me with stress. 

III. She would like a partner with whom 

she can have an mindful conversation. 

A. Only I 

B. Only II 

C. Both I and II 

D. Both II and III 

E. Only III 

 

 

 

Direction: A sentence with one blank 

is given, indicating that something has 

been omitted. Choose the word that 

best fits in the blank making the 

sentence grammatically correct and 

meaningful.  

9. The homesick girl misses her family 

_________ and wants to go home. 

A. Terrible 

B. Terribly 

C. Terror 

D. Vividly 

E. Excitedly 

 

10.Melody __________ my music 

teacher for the past five years. 

A. Is 

B. Have been 

C. Has been 

D. Was 

E. Is being 

 

11.One of the ___________ selected 

to visit Cambridge University from the 

college. 

A. Student was 

B. Students were 

C. Students was 

D. Student were 

E. Students 

 

12.Mother ________ all of my baby 

clothing, not throwing away any of the 

items I wore as a little girl. 

A. Rescued 

B. Prevented 

C. Protected 

D. Saved 

E. Presumed 
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Direction: In this question, two 

columns I and II and three sentences 

are given, which are divided into two 

parts. Column I (A, B and C) consists 

of first half of each sentence and 

Column II (D, E and F) consists of 

second half of each sentence. Match 

column I with column II, so that the 

sentences formed are both meaningful 

and grammatically correct. Choose the 

option as your answer.  

 

13.  

Column I 

A) The nervous nurse struggled to 

answer questions like 

B) Smoking is the leading cause of lung 

cancer, with 

C) Because of an issue with his heart, 

Column II 

D) over 87% of all cases being linked 

back to tobacco use. 

E) why she should be hired during her 

panel interview at the hospital. 

F) it is important to eat foods. 

A. A-F 

B. C-F 

C. B-D 

D. A-E and B-D 

E. All A-E, B-D and C-F 

 

14.Column I 

A) I was afraid to approach 

B) They charged down the stairs 

C) There's no time 

Column II 

D) for formality in everyday life. 

E) to meeting his grandmother. 

F) them about this matter. 

 

 

A. A-D 

B. C-E 

C. A-F and C-D 

D. B-F 

E. None of the above 

 

15.Column I 

A) The clock was restored 

B) The bank had sufficient 

C) Spanish liberals sought to create 

linguistic 

Column II 

D) liquid assets to continue operations. 

E) and a component of good health. 

F) to its original condition. 

A. A-E 

B. B-F 

C. C-D 

D. A-F and C-E 

E. A-F and B-D 

 

Direction: In the following question 

two equations are given in variables x 

and y. You have to solve these 

equations and determine the relation 

between x and y.  

16.  

I. x2 + 6x – 27 = 0 

II. y2 − 15y + 56 = 0 

A. x > y  B. x ≤ y 

C. x < y  D. x ≥ y 

E. x = y or relationship between x and 

y can't be established 

 

17.I. x2 + 8x + 15 = 0 

II. 4y2 + 20y + 9 = 0 

A. x > y  B. x ≤ y 

C. x < y  D. x ≥ y 

E. x = y or relationship between x and 

y can't be established 
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Direction: What approximate value 

will come in place of the question mark 

(?) in the following question? (You are 

not expected to calculate the exact 

value)  

18.  + 32.019 × 4.012 + 

 = ? 

A. 195 

B. 205 

C. 140 

D. 165 

E. 150 

 

19.(275% of 199.92) −  = ?2 + 

(11.96)2 

A. 25 

B. 20 

C. 10 

D. 16 

E. 30 

 

20.173.96 ÷ 28.97 + 2039.96 ÷ 15 = 

?3 – 203.05 

A. 10 

B. 12 

C. 7 

D. 15 

E. 5 

 

21.A and B started a business with an 

investment of Rs. 9000 and Rs. 15000 

respectively. At the end of 4 months, C 

joined the business with Rs. 18000 . If 

at the end of year, the total profit share 

in the business was Rs. 33600, what is 

the profit share of C? 

A. Rs. 12800  B. Rs. 11200 

C. Rs. 14250  D. Rs. 14800 

E. None of these 

22.The area of a rectangle is 1960 cm2 

and its length is 49 cm. The ratio of 

radius of a circle to the breadth of 

rectangle is 7 : 10. What is the 

perimeter of circle? 

A. 176 cm 

B. 152 cm 

C. 248 cm 

D. 132 cm 

E. 194 cm 

 

Direction: Study the following 

information carefully and answer the 

following question. 

Eight people i.e. A, B, C, D, E, F, G and 

H are born in eight different years i.e., 

1958, 1962, 1967, 1969, 1973, 1986, 

1987 and 1996 but not necessarily in 

the same order. The age is calculated 

according to the year 2023 . The 

difference between the ages of A and H 

is 9. A is younger than H. Difference 

between the age of H and B is a 

multiple of 5. G was born before B but 

not immediately before. Sum of the 

ages of G and C is a multiple of 4. Three 

people were born between C and F. 

Difference between the ages of F and E 

is a prime number. Sum of the ages of 

D and E is an even number. 

 

23. What is the age of D? 

A. 54 

B. 50 

C. 65 

D. 27 

E. None of these 
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24.How many people were born before 

E? 

A. Two 

B. One 

C. None 

D. Three 

E. Four 

 

25.What is the sum of the ages of F and 

H? 

A. 110 

B. 77 

C. 97 

D. 61 

E. None of these 

 

26.Who amongst the following were 

born in 1986? 

A. H 

B. A 

C. D 

D. C 

E. None of these 

 

27.E was born in which year? 

A. 1962 

B. 1973 

C. 1969 

D. 1990 

E. None of these 

 

Direction: Study the data carefully 

and answer the questions accordingly. 

There are seven people in a family with 

two married couples in the family. M is 

the mother of Q. R is the daughter of J. 

M is the only sister of G. A is the father 

of M. There are at most four females. Z 

is the mother of M. J is the wife of G. 

 

 

28. What is the relation of G with 

respect to A? 

A. Son-in-law 

B. Daughter 

C. Son 

D. Uncle 

E. None of the above 

 

29.Who is the grandson of A’s wife? 

A. R 

B. Q 

C. G 

D. J 

E. None of the above 

 

30.What is the relation of J with respect 

to M? 

A. Sister 

B. Mother 

C. Aunt 

D. Brother 

E. None of the above 

 

31.Who has authored the book titled 

'Reflections', which was launched by 

Union Finance Minister, Nirmala 

Sitharaman? 

A. Narayanan Vaghul 

B. Ashoka Mitran 

C. Qazi Athar Mubarakpuri 

D. P. F. Mathews 

E. Oyyarathu Chandu Menon 

 

32.Which of the following countries 

won the Men's Junior Asia Cup 2023 at 

the Sultan Qaboos Youth Complex 

Stadium in Salalah, Oman? 

A. Pakistan  B. Malaysia 

C. India  D. South Korea 

E. Japan 
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33.18th edition of “Yudh Abhyas”, a 

joint military exercise between India 

and the US, will be scheduled to take 

place in ____________. 

A. Chitkul, Himachal Pradesh 

B. Auli, Uttarakhand 

C. Mana, Uttarakhand 

D. Jaigaon, West Bengal 

E. Dawki, Meghalaya 

 

34.What is the theme of World No 

Tobacco Day 2023, which is observed 

annually on May 31? 

A. Tobacco: Threat to our environment 

B. Commit to quit 

C. Tobacco Exposed: The secret's out 

D. Tobacco breaks hearts 

E. We need food, not tobacco 

 

35.Ishad mango that has been recently 

awarded a GI tag, is mainly grown in 

which state? 

A. Karnataka 

B. Telangana 

C. Maharashtra 

D. More than one of the above 

E. None of the above 

 

36.Department for Promotion of 

Industry and Internal Trade has 

initiated a project on ONDC . What does 

C stands for in ONDC? 

A. Committee 

B. Council 

C. Convention 

D. Commerce 

E. Constellation 

 

 

37.India’s first underwater metro 

tunnel will come up in which of the 

following Indian city? 

A. Allahabad 

B. Vadodara 

C. Pune 

D. Kolkata 

E. None of these 

 

38.The term BSR refers to __. 

A. Bank Selling Rate 

B. Basic statistical Returns 

C. Annual returns submitted by banks 

to RBI to non-priority sectors. 

D. Quarterly statement of advances 

E. None of these 

 

39.The 42nd Summit of the Association 

of Southeast Asian Nations (ASEAN) 

held in which country? 

A. India  B. Indonesia 

C. Malaysia  D. Singapore 

E. Thailand 

 

40.Where is the headquarter of 

International Bank for Reconstruction 

and Development (IBRD) located? 

A. Geneva 

B. Washington DC 

C. London 

D. Paris 

E. None of these 

 

41.What is the URL? 

A. Address of the web page displayed 

on the internet 

B. A web browser 

C. A computer software 

D. Searching engine 
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42.Which of the following keyboard 

shortcuts opens the FIND and REPLACE 

dialogue box in MS Word? 

A. CTRL + R 

B. CTRL + H 

C. ALT + H 

D. ALT + R 

 

43.The Third Generation Computer was 

made with____. 

A. Vacuum Tube 

B. Discrete Components 

C. Integrated circuits 

D. Bio Chips 

E. None of these 

 

44.Which one of the following is volatile 

memory? 

A. ROM 

B. Pen drive 

C. RAM 

D. EPROM 

E. none of these 

 

45.Which of the following is a search 

Engine? 

A. Flash 

B. Fire fox 

C. Internet explorer 

D. Google 
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ANSWERS 
 

1. Ans. C.  

Incorrect preposition use. It should be 

‘under’ in place of ‘on’. 

2. Ans. B.  

The use of also is incorrect here. As the 

sentence implies to state a contrast, 

the correct conjunction should be ‘but’, 

3. Ans. A.  

Infinitive ‘to’ takes the verb in its first 

form. So, ‘stood’ is incorrect. 

4. Ans. B.  

The correct answer is B. 

5. Ans. C.  

The correct answer is C. 

6. Ans. B.  

The correct answer is B. 

7. Ans. D.  

I: dried up means If a supply of 

something dries up, it ends. 

II: demands ‘deep dyed’ - complete 

8. Ans. C.  

Mindful meaning 

I: careful not to forget about something 

II: deliberately aware of your body, 

mind, and feelings in the present 

moment, in order to create a feeling of 

calm 

III: an mindful is incorrect, it should be 

‘an intelligent’ 

9. Ans. B.  

The correct answer is B. 

10. Ans. C.  

The correct answer is C. 

11. Ans. C.  

The correct answer is option C. 

12. Ans. D.  

The correct answer is D. 

13. Ans. D.  

A-E and B-D form a pair 

14. Ans. C.  

15. Ans. E.  

The correct answer is E. 

16. Ans. C.  

I. x2 + 6x – 27 = 0 

⇒ x2 + 9x − 3x – 27 = 0 

⇒ x(x + 9) − 3(x + 9) = 0 

⇒ (x – 3)(x + 9) = 0 

⇒ x = 3, –9 

II. y2 − 15y + 56 = 0 

⇒ y2 − 8y − 7y + 56 = 0 

⇒ y(y − 8) − 7(y − 8) = 0 

⇒ (y − 7)(y − 8) = 0 

⇒ y = 7, 8 

So, x < y. 

Hence, option C is correct. 

17. Ans. E.  

I. x2 + 8x + 15 = 0 

⇒ x2 + 3x + 5x + 15 = 0 

⇒ x(x + 3) + 5(x + 3) = 0 

⇒ (x + 5)(x + 3) = 0 

⇒ x = – –5 

II. 4y2 + 20y + 9 = 0 

⇒ 4y2 + 2y + 18y + 9 = 0 

⇒ 2y(2y + 1) + 9(2y + 1) = 0 

⇒ (2y + 9)(2y + 1) = 0 

⇒ y = ,  

So, the relationship between x and y 

can't be established. 

Hence, option E is correct. 

18. Ans. D.  

By approximation, we get: 

+ 32 × 4 +  = ? 

⇒21 + 128 + 17 = ?  

⇒? = 166 ≈ 165 

Hence, option D is correct. 
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19. Ans. B.  

By approximation, we get: 

(275% of 200) −  = ?2 + 122 

⇒ × 200 – 6 – 144 = ?2 

⇒550 – 150 = ?2 

⇒?2 = 400 

⇒? = 20 

Hence, option B is correct. 

20. Ans. C.  

By approximation, we get: 

 174 ÷ 29 + 2040 ÷ 15 = ?3 – 203 

⇒6 + 136 = ?3 – 203 

⇒142 + 203 = ?3 

⇒?3 = 345 

⇒? = 7 

21. Ans. B.  

Ratio of the profit share of A, B and C 

= (9000 × 12) : (15000 × 12): (18000 

× 8) 

= 3 : 5 : 4 

3x + 5x + 4x = 33600 

⇒ x = 2800 

Profit share of C = 4 × 2800= Rs. 

11200 

Hence, option B is correct. 

22. Ans. A.  

Breadth of rectangle =  = 40 cm 

⇒ r =  = 28 cm 

Perimeter of circle =  = 176 

cm 

Hence, option A is correct. 

 

 

 

 

 

 

23. Ans. B.  

 
24. Ans. D.  

 
 

25. Ans. C.  

 
 

  

http://www.byjusexamprep.com/


www.byjusexamprep.com 
 

 
11 

 

26. Ans. D.  

 
 

27. Ans. C.  

 
28. Ans. C.  

 
 

 

 

 

 

 

 

29. Ans. B.  

 
30. Ans. E.  

 
 

31. Ans. A.  

* The correct answer is 'Narayanan 

Vaghul'. 

Other information: 

* The Union Finance Minister, Nirmala 

Sitharaman has launched a book called 

“Reflections” in Mumbai. 

* The author of the book is Narayanan 

Vaghul, a well-known banker. 

* This book provides a detailed account 

of his experiences in the financial 

landscape of India over several 

decades. 

* During the launching event, Finance 

minister highlighted his ideas and 

vision for women empowerment, which 

she believes will continue to be 

relevant and valuable as more women 

take on leadership roles in financial 

services in India. 
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32. Ans. C.  

* The correct answer is 'India'. 

Other information: 

* The Indian hockey team defeated 

Pakistan in the final of the Men's Junior 

Asia Cup 2023, held at the Sultan 

Qaboos Youth Complex Stadium in 

Salalah, Oman. 

* This was India’s fourth title at Men's 

Junior Asia Cup, after winning in 2004, 

2008, and 2015.  

* With this title win, India has become 

the most successful country in the 

history of the Men's Junior Asia Cup. 

* While Pakistan is the second-most 

successful team in the tournament with 

three titles. 

33. Ans. B.  

* The 18th edition of India and US 

mega military exercise “Yudh Abhyas” 

will be held in Auli, Uttarakhand from 

October 14 to 31, 2022. 

* Aim: To build the understanding, 

cooperation and interoperability 

between the two armies. 

* The 17th edition of the exercise was 

held in Alaska in US. 

34. Ans. E.  

* The correct answer is 'We need food, 

not tobacco'. 

Other information: 

* World No Tobacco Day, which is also 

known as Anti-Tobacco Day, has been 

observed every year on May 31 to raise 

awareness about the harmful effects of 

tobacco use and to advocate for 

effective policies to reduce tobacco 

consumption. 

* This global initiative was led by the 

World Health Organization (WHO). 

* 2023 theme: We need food, not 

tobacco 

* The 2023 theme highlights 

alternative crop production and 

marketing opportunities for tobacco 

farmers and encourages them to grow 

sustainable, nutritious crops. 

35. Ans. A.  

Ishad Mango from Ankola gets GI 

tag 

Recently, the delicious Ishad mango 

from Uttara Kannada (Karnataka) has 

earned its much-awaited Geological 

Indication (GI) tag. 

a. It is mainly grown around Ankola, is 

tasty and contains a lot of pulp. It is 

said that the mango variety has been 

cultivated for the last 400 years. 

b. There are two types of it – Kari 

Ishad, which has thinner skin, more 

pulp and sweeter, and Billy Ishad, 

which has thicker skin and less pulp 

and sweetness. 

c. Kari ishad is acknowledged as one of 

the finest quality mangoes due to its 

unique aroma, delicious taste, high 

volume of pulp, shape and shape. 

d. It is a sign used on products that 

have a specific geographical origin and 

have qualities or reputations that are 

due to that origin. It is commonly used 

for agricultural products, foods, wine 

and spirit drinks, handicrafts and 

industrial products. 

e. The Geographical Indications of 

Goods (Registration and Protection) 

Act, 1999 aims at registration and 

better protection of geographical 

indications relating to goods in India. 

This GI tag is valid for 10 years after 

which it can be renewed. 
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36. Ans. D.  

• ONDC stands for Open Network for 

Digital Commerce. 

• Department for Promotion of Industry 

and Internal Trade has initiated a 

project on Open Network for Digital 

Commerce (ONDC). 

• It aims at promoting open networks 

developed on open sourced 

methodology, using open specifications 

and open network protocols 

independent of any specific platform. 

• ONDC is expected to digitize the 

entire value chain, standardize 

operations, promote inclusion of 

suppliers, derive efficiencies in logistics 

and enhance value for consumers. 

• An advisory council has been 

constituted to advise the Government 

on measures needed to design and 

accelerate adoption of ONDC. 

• The members of the Advisory council 

include RS Sharma, CEO, National 

Health Authority, Nandan Nilekani, 

non-executive Chairman of Infosys and 

Arvind Gupta, Co-founder and Head, 

Digital India Foundation. 

37. Ans. D.  

Kolkata is about to experience a 

wonder in the form of an underwater 

Metro train which will run beneath the 

Hooghly river. 

Note: It’s one of the path-breaking 

projects in India as never before a 

tunnel has been dug beneath a flowing 

river. 

38. Ans. B.  

BSR refers to Basic Statistical Returns. 

Basic Statistical Returns of 

Scheduled Commercial Banks in India' 

provides data on different dimensions 

of deposits and credit of the banking 

sector. The information is collected 

from bank branches through Basic 

Statistical Returns - 1 & 2 (BSR-

1&2), annually. 

39. Ans. B.  

* The correct answer is 'Indonesia'. 

Other information: 

* The 42nd Summit of the Association 

of Southeast Asian Nations (ASEAN) 

started in Indonesia on May 8, 2023. 

* 2023 theme: ASEAN Affairs: 

Epicenter of Growth 

* Aim: To demonstrate the bloc’s hopes 

and efforts to become the center and 

driving force behind global 

development 

* ASEAN is an organization formed by 

the governments of Malaysia, 

Indonesia, the Philippines, Thailand, 

and Singapore in 1967. 

* ASEAN promotes economic growth, 

peace, and cultural development in the 

Southeast Asian region. 

40. Ans. B.  

The International Bank for 

Reconstruction and Development 

(IBRD) is an international financial 

institution that offers loans to Middle-

income developing countries. The IBRD 

is the first of five member institutions 

that compose the World Bank Group 

and is headquartered in Washington 

D.C., United States. It was established 

in 1944 with the mission of financing 

the reconstruction of European nations 

devastated by World War II. The IBRD 

and its concessional lending arm, the 

International Development  

Association, are collectively known as 

the World Bank as they share the same 

leadership and staff. 
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41. Ans. A.  

● URL is an address of the web 

page displayed on the internet. 

● The full form of the URL is Uniform 

Resource Locator. 

● It is a unique identifier used to 

locate a resource on the Internet. 

● The first part of the URL is called a 

protocol identifier and it indicates 

what protocol to use. 

● The second part is called a 

resource name and it specifies the 

IP address or the domain name 

where the resource is located. 

● It was developed by Tim Berners-

Lee in 1994. 

42. Ans. B.  

Ctrl + H opens the find and replace tool 

that lets you search for a character, 

word, or phrase and replace it with 

something else. 

Note: If you only want to find text and 

not replace, use the Ctrl+F shortcut. 

43. Ans. C.  

The computers of the third generation 

used integrated circuits (IC's) in 

place of transistors. A single IC has 

many transistors, resistors, and 

capacitors along with the associated 

circuitry. 

Note: The period of the third 

generation was 1965-1971. 

44. Ans. C.  

RAM is volatile memory. Data stored 

in it is lost when we switch off the 

computer or if there is a power failure. 

45. Ans. D.  

Google Search, or simply Google, is a 

web search engine developed by 

Google LLC. It is the most used search 

engine on the World Wide Web across 

all platforms, with 92.16% market 

share as of December 2020, handling 

more than 5.4 billion searches each 

day. 

Firefox and Internet explorers are web 

browsers, Flash is a type of memory. 

Thus, option D is correct. 
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